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; 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.77 59.49 | N | 000 ~ 0.00| 1.74 8.80 st 1.00 | 5.00 ~ 56.00 59.49 | =hst | 65.00 ~ 6.00|1.74 8.80
2 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
Zzh st 1.00 | 0.00 ~ 5.19 64.66 | TS 000 ~ 519]1.87 9.46 ZzhLst 1.00 | 5.00 ~ 56.80 64.66 | TnLs | 65,00 ~ 580 | 1.87 9.46
3 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 000 ~ 476 59.32 | #hst | 0oo ~ 0.00| 1.68 8.01 ZzhLst 1.00 | 5.00 ~ 56.00 59.32 | =S | 5.00 ~ 5.00 | 1.68 8561
4 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 000 ~ 367 46.27 | =4t | 0ooo ~ 367|216 10.92 st 1.00 | 5.00 ~ 56.00 46.27 | =0 | 5.00 ~ 5.00)|2.16 10.92
5 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z 3 — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 5.00 62.32 | =N | 000 ~ 500 1.89 9.57 ZzhLs 1.00 | 5.00 ~ 56.60 62.32 | #nLs | 5,00 ~ 5.60 | 1.89 9.57
e 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.64 57.90 | FnLS | 000 ~ 464 | 1.86 9.38 ZzhLs 1.00 | 5.00 ~ 56.00 57.90 | =S | 5.00 ~ 56.00 )| 1.86 9.38
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
ZhnLst ~ Lt ~ zh st ~ Lt ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ Zh st ~ Lt ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zh st ~ st ~ Fhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhnLst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zh s ~ Zzh st ~ zhs ~ Zzh st ~




